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2) Simplify:  (5x% —=3) +(3x°* + 3x) — (4x ~ 8) V@‘X’Qﬁ__ ’
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3) Write an equivalent expression : (-6x°y Z)(X y)

4} Find the perimeter of a rectangle with a base of (3x —2) and a height of(x + 2).
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5) A rectangular billboard sign has base of 8x*y*square feet and a height of 2x°y feet. What
is the area of the billboard?
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6) Evaluate the following function at f(-2): f(x)=3x"+4x-7
Use your calculator. ‘H__}\ = R sz\‘z. P (;;«2) ._:“)

f(2) = =3

7) If a function is defined by f(x) =10 -3x and the do%lain is {1,2,4,6}, then what is the
range? C\j 1 \ | j , _
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8) Create a table from the given graph. You may choose any 4 points.
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9) Using the table from question #8, Identlfy the following:
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10) The graph below represents a function:
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What is x When f(x)=6__ L/ _ f

11) If (x, -14) ? a solution to theequation 3x — 2y = 8, what is the value of x?
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12) If (5, y) is a solution to the equation 8x + 3y= -10, what is the value of y?
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13) What is the domain of the line segment on the graph below? =~ -
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14) StuCo is selling t-shirts to raise money for the Spring Fling Dance. After the cost of
making the t-shirts is deducted, the remainder of the money collected will be deposited in
an account to purchase decorations and food for the dance. This situation can be
represented by the equation P = 10t — 600, where P, the profit is a function of ¢, the
number of t-shirts sold. Identify the independent and dependent quantities and complete
the dependency statement.
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15) Find the Domain and Range of the graph below:
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16} Lisa was holding a balloon and let go. A slight breeze carried the balloon up until it hung
on a tree limb. The branch punctured the balloon and it fell to the ground. The path of the

balloon is represented by the graph below. Use the graph to answer the following
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guestions.

. What is the independent quantity? /f"er\Q; :
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a) What is the dependent quantity? @m{’;ﬁ‘ SN MG\QMM
b) What is the domain? (> < A {-‘HO‘
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¢) What is the range? O = 5 < (Q

d) When was the balloon moving the fastest? o 71 - ai Aeo~do
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e) How long was the balloon caught on the tree branch? R PeconADd

f) How high was the branch off the ground? (zg -CM
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17) The formula below is used to find the V, the volume of a rectangular prism, where I is the
length, wis the width, and h is the height.
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Solve the equati n fo]?}he term of w.

18) Solve the literal equation £
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